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EIGHTH SEMESTER LL.B. (FIVE YEAR) AND
FOURTH SEMESTER LL.B. (THREE YEAR) DEGREE
EXAMINATION, OCTOBER 2009

LAW OF EVIDENCE

Time : Three Hours Maximum : 80 Marks

Part A

I. Answer any five questions. Each question carries 4 marks : —

“Estoppel does not create a cause of action. It can be used as a shield but not as a sword”.
Discuss explaining the principle of estoppel and examining Legal estoppel and Equitabl
—— o

estoppel.

inal matters, the allegation in the charge - sheet constitute the fact in issue. In

/ civil matters the process of ascertaining “facts in issue is known as framing of issues”,
“Thus fact in issue depends upon the ingredients of the offence and the state of the parties
Ppleadings”. Discuss, explaining the nature of fact in issue. ‘Relevancy and admissibility
are used as being synonymous with each other,maeir legal incidence are different,
because facts which are relevant may not be admissible” Explain.

“A confession must either admit in terms of the offence, or at any rate substantially all the

- 5y avsvs wue vueuce. An admission of a gravely incriminating fact, even a
conclusively incriminating fact, is not in itself a confession...” Comment explaining the
distinction between confession and admission, and stating the circumstances in which
and the extent to which confessions made to the police are admissible in evidence.

y“[ﬁhe declarant has infact died ......_.. the statement will be relevant even if no cause of

death had arisen at the time of the making of the statement. “Discuss explaining what
constitutes dying declaration and stating how dying declaration under clause (1) of S. 32,
Evidence Act differs from dying declaration in English law.

What do you mean by “impeaching the credit of a witness” ? What are the different ways
in which the credit of a witness may be impeached under S.155 of the Evidence Act. ?

Discuss.
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nder the Evidence Act witnesses though compellable to give evidence are privileged or
protected from answering certain questions. Discuss explaining such privileges.

(5 x 4 = 20 marks)
Part B
II. Answer any three of the following. Each question carries 10 marks : —

X was prosecuted for the murder of his wife. His defence was that the shot went off

J Z accidently. There was evidence to the effect that‘ the deceased telephoned to say “Get me

*  the police please” Before the operator could connect the police, the caller, who spoke in

. distress, gave her address and the call suddenly ended. Thereafter when the police came
to the house, they found the dead body of the woman. The prosecution wants to prove
that the shooting in question was intentional and not accidental. Advise. V. w

‘ % The accused was prosecuted for causing the death of the deceased at a place ;% at 9. a.m.
The plea of the accused was that he was working in his factory at pldce Bat8.30am. In’
fact the dnsm;:—;h;tween places A and B was so small that the accliée‘a could have reached
the place where the death was caused very easily from his fa M‘at the time when the
alleged murder of the deceased was committed. The ace: ﬁ(fjéad.s “alibi”. Declde whether
F30 Sn SIeH
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Mﬂ a murder case the first accused made a confession to the police which led to the discovery
of certaini jewels belonging to. the woman who was murdered, and also a blood - stained
brick which the'first accused said, that the second accused had used to béat the deceased
if'the beating the deceased @ottan had died. Exéitine the evidentiiry
value of the confession made by the first accuﬁéfaiis against himself and the second accused
under Sections 27 and 30 of the Evidence A‘cf: when they are jointly tried: & . 2 5 Q:97

@he prisoner was charged with the murder of a woman. After the mﬂxctlon of the injury
which caused the death of the woman she was taken to the hospital ‘where a statement of

the woman was recorded, which read” I make the statement with ho'hope of my recovery”.
Guest the Words” at present” were

'? Before signing the statément by the woman, at her
also added to the statement which then read, ‘I make'the statement with no hope of
ecovery at present”. It was srgued that the st.atement ‘was not M‘OD because

5\7 - the addition of the words” at present” at her request whg@MdMad some
%%’ 2 faint hope of recovery at the time when the statement was made. Decide referring to the
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Part C
I1I. Answer any two questions. Each question carries 15 marks :

“Section 6 of the Evidence Act is based upon the English doctrine of res gestae though this
word has been scrupulously avoided by the section.” Examine the scope of Section 6 of the
Act discussing the English doctrine of res gestae, as well.

Discuss how the cha¥acter of the party becomes relevant or irrelevant in civil and criminal

\'«/ases.

.
/ “The contents of document*may be proved either by primary or by secondary evidence”.
Discuss the two methods of proving the contents of a document explaining what constitutes
q primary evidence and secondary evidence.

(2% 15=130 marks)
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